Area-length index ml/m?

Area-length - MRI ml/m?

A

5 r=0.70, p <0.0001
y=6.8+0.49 x
[}
504 e .
o e
° 0.0 °
° ,.‘O *
254 a0'®
o N
C L} L} L} 1
0 25 50 75 100
MRI index ml/m?
10 Mean difference -18.1 + 10.3 ml/m?
{07
O o 25D
-104 .“. °
[ ] mean
-207 ..'7."—'_. o
-30 e °
28D
403 [
°
'50 T T T T T T 1
0 10 20 30 40 50 60 70

Area-length + MRI/2 ml/m?

Area-length index ml/m?

Area-length - 3DE ml/m?

B

™1 =077 p<0.0001
y=3.4+0.71x
504 °
[ ] e
e
° o
o %." ©
.‘,.'
2 98 o°°
£
C L L 1
0 25 50 75
3DE index ml/m?
Mean difference 5.5 + 6.8 ml/m?
20
Ao .9 ...
154 ° 2SD
o®
104 Y °
s °
5 -« ." mean
o
0 ° ‘. ° .
S 2D
'lG T T e T T T T

Area-length + 3DE/2 ml/m?



	Slide Number 1

